Derivative Rules
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Product Rule Quotient Rule Chain Rule
o _f=) _hi _
y = f(z) - g(x) V=0 " Io y = f(g(x))
lo-dhi — hi-dlo
y = f'(z) g(z) + f(2) - ' () y = (10)? y' = f'(9(2)) - 4'(2)
@ y = z* - sin(z) @ Y= 46—; @ y = cos(3xz?)
fl)y=2* g(z) = sin(z) hi = €® lo = 423 f(g(z)) = cos(3x?) g(z) = 3z
f'(x) =42° ¢'(z) = cos(x) dhi =€  dlo=12x2 f'(9(z)) = —sin(3z?) ¢'(z) =62
Y =4x3 . sin(z) + z* - cos(x) ' 473 - e — €% - 1222 y = —sin(3z?) - 6
YT T Wy
@ y = 222 - In(x) @ Y = 5z @ y = 22>+
o) =207 ola) = 10 hicte I sin(s) Flo(@) = = g(a) = 22° +4
ezt d@=y dhi=5  dio= cos(a) FE) =t g 6(oc) — 6z
' =4z - In(z) + 222 - = ,=S’in($)'5—5a:-cos(a:) Yy =e - 6z
’ z v i)’

y =4z -In(z) + 2z




